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Basic (Loapep AT $0801)
Cé4 asic
LINE
4+2 | | Lins (0]
6+1 Toksn OE SYS
7+8 | | Argument " (2491)" $98-> 0x1BC =
F+1 | | Tolksn ©® Enp oF LINE
LiNE
10+2 | | Nexiline $2 ->0x16
12+2 Line 15872
14+2 | | Tolksn ©® Enp oF Line
LiNE V
->16+2 | | NesiLine END OF PROGRAM
6502 ASM

111433 ey

->1BC+2
1BE+3

1C1+2
1C3+2
1C5+2
1C7+2

1C9+3
1CC+1

1CD+2

->1CF+2
1D1+2
1D3+2
1D5+2
1D7+2
1D9+3
1DC+1
1DD+3

->1E0+3
1E3+3

->1E6+1

->1E7+42
1E9+3

->1EC+2
1EE+2
1FO+2

60 B4 00 CD 16 61 EB B2 55 a0 (@) 1F2+3

String ($0910)
BGPP...or\n\r\@$ @

START ($0%8) <&

Ida #0x0@e Ful CHARACTER SET

jsr Oxffd2 Cé4y CHROUT

lda #omsg ($09)-> 0x0x11 -> ($0910)
sta $21 Hienx ByTe

lda #<msg ($10)-> 0x0x11 -> ($0910)
sta $20 Low ByTe

jsr $09cc cal PRINTSTR

ris RETURN To BASIC

PRINT STrING ROUTINE ($09CC)

lely §iOxO ReseTY
Loop ($09CE) <&
lda ($20) Y READ IN A CHARACTER
cpy #$21 ArTER 33 CHARS
Jump To ExTRACR-> 0X1EQ
CMP $00-TERMINATED STRING
JUMP TO DONE-> OX1E6 |
jsr $09eb Jump To PRINTCHAR-> OX1EC |
fingy INCREMENT Y
Jmp $89¢ce Jure To LOOP Y
ExTRACR -
{jsr $09e6 PriNT A CR-> Ox1E?
Jmp $09d4 Jump sack INTo Loor-> Ox1CF |
DONE -
|| ris RETURN V
PRINTCR RouTINE ($09€6)
Ida #13 CarrIAGE RETURN
jmp $09@b Jurp To PRINTCHAR-> OXEC =3
PRINTCHAR ROUTINE ($09E8) <&
S HGT)!
bee +$2 Done
| eor #0b00100000 ConverT CHAR
DonE
| jmp $FFAd2 Cou CHROUT




